Surds

Calculate  2√2 - √8 .
Solve x2 – 2x – 4 = 0.

· Leave your answer as an exact value with the square root still in it, not as an approximation. (Why settle for anything less? We don’t compromise in Maths – well not unless we have to!)
A SURD is a square root or cube root (or any root) that cannot be expressed as a rational number
.  
	Always True

Prove why
	True only for certain special cases

What are the special cases?
	Never true

Prove why?
	

	
	
	
	√(a2 + b2) = a + b

	
	
	
	√(a + b) = √a + √b

	
	
	
	√(ab) = √a√b

	
	
	
	√(a-b) = √a - √b

	
	
	
	√(a/b) = √a / √b

	
	
	
	1/√a =√a / a

	
	
	
	a /√a = 1/ √a

	
	
	
	√a/a =à √a

	
	
	
	√a/a = 1 / √a

	
	
	
	1/(√a + b) 

=(√a - b)/(a - b2)

	
	
	
	1/(√a + √b) 

=(√a - √b)/(a + b)


Simplifying surds
Simplify the following: 


(a)
 
[image: image1.wmf]20


(b) 
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Rationalising denominators

1. Express 
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 in the form 
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 where a, b, n are all integers. 

2. (a) Express 
[image: image5.wmf]1

3

2

+

 in the form 
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 where a,b,c,n are all integers.

(b) Express this in the form 
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 where p,q,n are all rational numbers. 

�PAGE \# "'Page: '#'�'"  ��A rational number is a number that can be expressed as the ratio of two integers (whole numbers). 


�PAGE \# "'Page: '#'�'"  ��Look for factors of 20 that are square numbers. 


�PAGE \# "'Page: '#'�'"  ��The surd can be treated as an x so that, for example, 8(2 - 3(2 = 6(2 
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